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gini = 0.469
samples =48
value = [18, 30]
class = 1

True

fiber<8.5
gini = 0.453
samples = 26
value = [17, 9]
class =0

l

age <33.0
gini = 0.444
samples =12
value = [4, 8]
class =1

sex<0.5 fat<1.0 age <52.5
gini = 0.375 gini=0.5 gini = 0.444
samples =4 samples =8 samples =3
value = [3, 1] value = [4, 4] value = [1, 2]
class =0 class =0 class =1
\ + v
<
o 0444 gini = 0.5 i 0.5 gini = 0.5
sgampleé =3 samples = 2 sagmples _ 6 samples =2
value = [2, 1] value =[1, 11\ | ae = 3,31 | | vaue =[1.1]
o class =0 o class =0
class =0 class =0
gini=0.5 gini=0.5 fibor = 19:2
samples = 2 samples = 2 sagm les = 4
value =[1, 1] value =[1, 1] Valu(f: 2. 2]
class =0 class =0 class = 0
gini=0.5 gini=0.5
samples = 2 samples = 2
value =[1, 1] value =[1, 1]

class =0 class =0




